Legende:

51

1042

1041

g -
€5 g £ o n
£ 55 2 -,mm o |~ s o
S 3z 8 > 2 RIS Q| - 5
bm, mm 5 = manM g MMh_na M zl O
g5 58, 2 2822 " E 3 o e
T 5 5% 3 5 855 ¢ D g 5 2
s 8 g oz 2 GR8< - g8 > o
S n 8 E 2 E= 2 T C OO W.w = el
E S s%83g s 2 E o=, S88% - =5 2 "
3 3 2228 2 5 5,48 2 $£55S = 5 E <
T % 35832 P St o3 6305 AE x 2o .
: 83 2388 £ £ 282 o 285 o % .t B8 20
8 £3 535 5 § 5 283 ¢ §25 ¢ Bz EE Ola e
L ®Z > oo L. O > LD O S5 S3€5 (- . a 235 = o €| «—
SNG&?E 585 o 23 - | |
<QPc> £ Qe 5= ¥ mEr
5L ¢ oL 3 Tc © | .| - L)
JA | | 5223 O|l.288 8 =& 5l
= 2838% 2= £5: O 5 5 O
saln 3353 seold 2L g g of
/ o | 358 aR O |55z 585 8 : =2
| 2B ° & L
= \
~
~
P \
00».‘ o.\\\/\P /
© ~
5 7
2 X
1 *
‘\‘
47 :*
|~
~
) \
‘ = ’\x Q)
o)
// ™
7 // N ©
AN 7
S 08
N
™
oS
o))
S
Hqv} (@)
= <
) o)
o))
©
!
[
o
=
S
S
o <
N
(@)}
S
c O
-0 C
g .0
O ©
-
o
o L
Q ©
D =
T —
g | Ham S G
__ £
| Oh
_ S =
o)
__ S »
_ n £
=
\
\
\
»
\\\ 6
- o
A 8
oo)
™
o
b1y
\
\
\
\
\
\
\
, $
\ Q
\
| \ mv
\ 1_&
N
= <
o ®
= Q
-.nm D wa) 0."»#4’//14‘_' e
£ To} #
(7] N " .
© © AN ~
= / \ 9
\ g
/ x
\ 3
X % <
: \ 0
e WD S
e
s NN
DT
S
<
®
&
@
O
@
WY kS
// 2
VNN
T O = N ~t )
c o o /%%/I o
5 © 2 ///// n.u
c DD //// S
&= 2 /// IS
=82 // S o
E cZ // % N~
S / <
S~
25 N\ \ S
Ss VA \ Y
2L %% \
© 2 // /
£ D %/ \
—
e N \
= NN \
/ A
\ \
\ \ ©
<
/ # ©
/ o
0
(q\]
©
-
©
mou1

G202’ #0'60 :Wniepyold
Bmp-y45202€08 1 HBULBISN \d-dd

Ax_1189x594


AutoCAD SHX Text
9.45673473

AutoCAD SHX Text
2.90


	Pläne und Ansichten
	Layout1 (2)




